

Price lists 2025-2026

Early Years & Primary

	Per student
ASPECTS	€12.50
BASEline	€8.70
BASE Progress	€17.20
BASE Inspection Ready	€19.80
Cambridge Primary Insight Core	€II.IO
Cambridge Primary Insight Plus	€17.00
Cambridge Early Years Check Together*	€I5.IO

*Only available to schools delivering the Cambridge Early Years curriculum

Wellbeing

	Per student
Wellbeing Check	€1.20

CPSQ

	Per student
CPSQ for Schools	€4.70

Example calculation breakdown for MidYIS with 300 students:			
Product fee		€187	
I-IOO students	100 at €13.80 =	€1,380	
IOI-I75 students	75 at €10.60 =	€795	
176+ students	125 at €7.20 =	€900	
Total cost		€3,262	

Secondary & Post 16

	Per student
MidYIS & Yellis	
Per Product Fee	€l87
I-IOO students	€I3.80
Next IOI-I75 students	€I0.60
Next I76+ students	€7.20
ALIS/IBE Insight	
Product Fee	€245
I-60 students	€II.IO
Next 6I-I2O students	€7.20
Next I2I+ students	€5.00

Cambridge Select Insight

Cambridge Select Insight Registration Fee	€487
Cambridge Select Insight per student price	Per student
I-I2O students	€22.70
Next I2I-330 students	€18.30
Next 33I+ students	€12.20

For more information, including withdrawal fees, read the full terms and conditions





	Per student
ASPECTS	€12.50
BASEline	€8.70
BASE Progress	€17.20
BASE Inspection Ready	€19.80
Cambridge Primary Insight Core	€II.IO
Cambridge Primary Insight Plus	€17.00
Cambridge Early Years Check Together*	€I5.IO

*Only available to schools delivering the Cambridge Early Years curriculum





	Per student
MidYIS & Yellis	
Per Product Fee	€l87
I-IOO students	€I3.80
Next IOI-175 students	€I0.60
Next 176+ students	€7.20
ALIS/IBE Insight	
Product Fee	€245
I-60 students	€II.IO
Next 6I-120 students	€7.20
Next I2I+ students	€5.00



Cambridge Select Insight Price List 2025-2026

Cambridge Select Insight Registration Fee	€487
Cambridge Select Insight per student price	Per student
I-I2O students	€22.70
Next I2I-330 students	€18.30
Next 33I+ students	€I2.20

Example calculation breakdown for Cambridge Select Insight with 350 students:

Registration fee			€487
I-I20 students	120 at €22.70	=	€2,724
121-330 students	210 at €18.30	=	€3,843
33I+ students	20 at €12.20	=	€244
Total cost			€7,298
Total cost			€7,298